[§9:9:9.9:9:9:9:9:9.9.0.9:0:9:0:0:9.0.0:0:0:0:0.0.0:9:0:9:9.0.0.0.9:0:9:0:0.0.0.0:0:9:0:0.0.0.9:0:9:0:0.0.0.0:0:0:0:0.0.0:0:0:9:0.0.0.0:0:0:0:0:0.0.0,0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00001XX
TrigonometryExercise6 for No.10052

Nol :{1 —(2cos(8)~1=0) .2=(4[cos(8)]* -3 :0)}

3=(cos(30)=0) 4=(cos(20)=1)
I=(2[cos(0)]*+cos(0)—1=0) .2=(2[sin(0)]*+cos(0)—1=0)
No2 = .3=(2[sin(6)]2—sin(8)=0) .4:(sin(8)+cos(6):«/5)
S =(tan(0) sin(0) =tan(6)) .6:(4[sin(8)]3—3sin(8)=0)
N03:{1:(25in(8)+1=0) .2:(4[cos(6)]2—1:0)}
3=(cos(40)=0) 4=(sin(40)=1)
I=(2[sin(0)] +3sin(0)+1=0) .2=(2[sin(0)]* +3 cos(6)—3=0)
Nod=| 3=(2[sin(0)] +sin(6)=0) 4= (sin(0) - cos(0)=4/2)
S =(tan(0) cos(0)=tan(0)) .6:(4[005(9)]3—3cos(O)zO)
NO5:[ 1 =(2sin(0)—1=0) .2=(4[sin(9)]2=3)}
3 =(2tan(0) sin(0)=tan(0)) .4:([tan(6)]2—3:O)

):0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0.0:9.0:0:9.0.0:9.9.0:9.:9.0:0:0.0:0:9.0:0:0.0:0:0.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00002XX
TrigonometryExercise6 for No.10064

NO]:{.]:(Zsin(8)+1:O) .2:(4[cos(6)]2—1:0)}
3=(cos(20)=0) 4=(cos(40)=1)
I=(2[sin(0)]*+3sin(0)+1=0) .2=(2[cos(0)]* —sin(0)—1=0)
No2=| 3=(2[sin(0)]*+sin(6)=0) 4= (cos(0) —sin(0)=4/2)
S =(tan(0) sin(0) =tan(0)) .6:(4[sin(9)]3—sin(9):0)
N03:[1=(2sm(e)—1=0) .2:(4[sin(9)]2—120)}
3=(cos(30)=0) 4=(sin(30)=1)
I =(2[sin(0)]*=3sin(0)+1=0) .2=(2[cos(0)]* +sin(0)—1=0)
Nod=| .3=(2[sin(0)]*—sin(6)=0) .4:(sin(8)—cos(6):«/5)
S =(tan(0) cos(0)=tan(0)) .6:(4[sin(8)]3—3sin(@):O)
N05:[ 1=(2cos(8)—1=0) .2:(4[005(6)]2:3)}
.3=(2tan(0) cos(0)=tan(0)) .4:([tan(9)]2—3=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00003XX
TrigonometryExercise6 for No.10076

Nol :{1 —(2c0s(8)=1=0) .2=(4[sin(0)] -1 :0)}

3=(cos(30)=0) 4=(sin(40)=1)
I =(2[sin(0)]*+3sin(0)+1=0) .2=(2[sin(0)]*+cos(8)—1=0)
No2 = .3=(2[sin(6)]2—sin(8)=0) .4:(cos(8)—sin(6):«/5)
S =(tan(0) sin(0) =tan(6)) .6:(4[cos(8)]3—cos(8):O)
N03:{1:(25in(8)—1=0) .2:(4[cos(6)]2—1:0)}
3=(sin(30)=0) 4=(cos(20)=1)
I=(2[cos(0)] =3 cos(0)+1=0) .2=(2[sin(0)]*—cos(0)—1=0)
Nod=| 3=(2[cos(8)]+cos(8)=0) 4= (sin(0) + cos(0) =4/2)
S =(tan(0) cos(0)=tan(0)) .6:(4[sin(9)]3—3sin(@)zO)
NO5:[ 1 =(2sin(0)+1=0) .2:(4[sin(6)]2:3)}
3= (tan(0) sin(0) =sin(0)) .4:([tan(6)]2—1:O)

):0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0.0:9.0:0:9.0.0:9.9.0:9.:9.0:0:0.0:0:9.0:0:0.0:0:0.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00004XX
TrigonometryExercise6 for No.10077

NO]:[.]:(Zsin(8)+1:O) .2:(4[sin(6)]2—1=0)}
3=(sin(30)=0) 4=(cos(30)=1)
I=(2[cos(0)]"=3cos(0)+1=0) .2=(2[cos(0)]* +sin(0)—1=0)
No2=| 3=(2[cos(8)]=cos(8)=0) 4= (sin(0) - cos(0)=4/2)
S =(tan(0) sin(0) =sin(0)) .6=(4[sin(9)]3—sin(9)=0)
Noj,:{]:(2cos(9)—1:0) .2:(4[005(9)]2—1:0)}
3=(sin(20)=0) 4=(cos(20)=1)
I=(2[cos(0)]+3cos(0)+1=0) .2=(2[cos(0)]* —sin(6)—1=0)
Nod = 3=(2[sin(0)]* +sin(6)=0) .4:(sin(8)+cos(6):«/5)
J=(2tan(0) sin(0)=tan(0)) .6:(4[cos(6)]3—cos(6):O)
N05:[ 1=(2sin(0)—1=0) .2=(4[sin(6)]2:3)}
.3=(2tan(0) cos(0)=tan(0)) .4:([tan(9)]2—3=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00005XX
TrigonometryExercise6 for No.10083

Nol :[.1 =(2sin(0)-1=0) .2=(4[sin(0)]* -1 =0)}

3=(sin(20)=0) 4=(cos(40)=1)
I=(2[cos(0)]* =3 cos(0)+1=0) .2=(2[cos(0)]*=3sin(0)—3=0)
No2 = .3=(2[sin(8)]2+sin(8):0) .4:(sin(8)+cos(6):«/5)
J=(tan(0) cos(B)=cos(0)) O6=(4 [sin(@)]3 —-sin(0)=0)
NO3:{1 —(2cos(0)—1=0) .2=(4[cos(0)] -3 :0)}
3=(sin(40)=0) 4=(sin(30)=1)

3=(2[cos(8)]2 = cos(6)=0) 4= (cos(0) —sin(0)=4/2)
S=(2tan(0) cos(0)=tan(0)) 6=(4 [cos(e)]3 —cos(0)=0)
NO5:[ I=(2sin(8)+1=0) .2:(4[cos(9)]2:1)}

J=(tan(0)sin(0)=tan(0)) .4= ([tan(@)]2 -1=0)
00:0:0:010:00:0:0:00:0:0:0.0:0.00:0.0.0:0:0:0:0.0:0.0.0.0:0:0:0.0.0:0.0.0.0.0.0.0.0:0:0:0:0.0:0.0.:0.0.0.0:0:0.0:0.0:0.0:0.0.0:0:0:0:0:0.0:0.0:0.

A=(2 [sin(e)]2+ sin(0)—1=0) .2=(2 [sin(e)]2+cos(9)— 1=0)
No4 =

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00006XX
TrigonometryExercise6 for No.10109

NO]:[.]:(Zsin(O)—I:O) .2:(4[sin(6)]2—1=0)}
3=(sin(20)=0) 4=(sin(40)=1)
I=(2[cos(0)] =3 cos(0)+1=0) .2=(2[sin(0)]*—cos(0)—1=0)
No2=| 3=(2[cos(8)]=cos(8)=0) 4= (cos(0) —sin(0)=4/2)
.5=(tan(0)sin(0) = tan(0)) 6=(4[sin(0)] - 3sin(0)=0)
Noj,:{]:(2cos(9)—1:0) .2:(4[005(9)]2—3:0)}
3=(cos(40)=0) 4=(sin(30)=1)
I=(2[cos(0)]+3cos(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
Nod = 3=(2[sin(0)]* +sin(6)=0) .4:(sin(8)—cos(6):«/5)
S =(tan(0) cos(0)=tan(0)) .6=(4[cos(8)]3—3cos(@):O)

1=(2sin(0)+1=0) 2=(4[cos(0))=1)

N05:[ 5 }
3=(tan(0) cos(0)=cos(0)) .4=([tan(0)]" —1=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00007XX
TrigonometryExercise6 for No.10180

Noi :[.1 =(2sin(0) +1=0) .2=(4[sin(0)] -3 :0)}

3=(sin(40)=0) 4=(cos(20)=1)
I=(2[cos(0)]+3cos(0)+1=0) .2=(2[sin(0)]*=cos(6)—1=0)
No2 = .3:(2[cos(6)]2+cos(6):O) .4:(cos(8)—sin(6):«/5)
S =(tan(0) sin(0) =sin(0)) .6:(4[005(6)]3—cos(6)20)
N03:[.1:(25in(8)—1=0) .2:(4[sin(6)]2—1=0)}
3=(sin(30)=0) 4=(cos(30)=1)
I=(2[cos(0)] —cos(8)—1=0) .2=(2[cos(0)]*+3sin(0)—3=0)
No4=| .3=(2[cos(0)]*=cos(6)=0) .4:(sin(9)—cos(9):«/5)
5 =(2tan(0) cos(0)=tan(0)) .6:(4[005(9)]3—3cos(O)zO)

B A=(2cos(0)—-1=0) .2=(4[cos(9)]2:3)

3 =(tan(0) cos(0)=cos(0)) .4:([tan(6)]2—3:0)
00:0:0:010:00:0:0:00:0:0:0.0:0.00:0.0.0:0:0:0:0.0:0.0.0.0:0:0:0.0.0:0.0.0.0.0.0.0.0:0:0:0:0.0:0.0.:0.0.0.0:0:0.0:0.0:0.0:0.0.0:0:0:0:0:0.0:0.0:0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00008XX
TrigonometryExercise6 for No.10181

NO]:{.I:(ZCOS(O)—1=O) .2:(4[sin(6)]2—3:0)}
3=(cos(30)=0) 4=(cos(20)=1)
I=(2[sin(0)]*=3sin(0)+1=0) .2=(2[sin(0)]* - cos(0)—1=0)
No2=| .3=(2[cos(8)]*+cos(8)=0) 4= (cos(0) —sin(0)=4/2)
S =(tan(0) sin(0) =sin(0)) .6:(4[005(9)]3—005(9):0)
N03:{1=(2sm(e)+1=0) .2:(4[005(9)]2—1:0)}
3=(sin(30)=0) 4=(sin(20)=1)
I=(2[sin(0)]*+3sin(0)+1=0) .2=(2[cos(0)]*+sin(0)—1=0)
Nod=| .3=(2[sin(0)]*—sin(6)=0) .4:(sin(8)+cos(6):«/5)
S =(tan(0) sin(0) =tan(6)) .6=(4[sin(8)]3—sin(8)=0)
N05:[ 1=(2sin(0)—1=0) .2=(4[sin(6)]2:1)}
.3=(2tan(0) cos(0)=tan(0)) .4:([tan(9)]2—3=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00009XX
TrigonometryExercise6 for No.10191

Noi :[.1 =(2sin(0) +1=0) .2=(4[sin(0)] -3 :0)}

3=(sin(40)=0) 4=(sin(30)=1)
I=(2[cos(0)] =3 cos(0)+1=0) .2=(2[sin(0)]*=cos(6)—1=0)
No2 = .3:(2[cos(6)]2—cos(6):O) .4:(sin(8)—cos(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6:(4[005(6)]3—cos(6)20)
N03:{1:(25in(8)—1=0) .2:(4[cos(6)]2—3:0)}
3=(cos(460)=0) A4=(sin(20)=1)
I =(2[sin(0)]* -sin(0)—1=0) .2=(2[cos(6)]*—3sin(08)—3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(9)+cos(9):«/5)
S =(tan(0) sin(0) =tan(0)) 6=(4[cos(0)]’ =3 cos(0)=0)
N05:[ 1=(2cos(0)—1=0) .2:(4[sin(9)]2:1)}
3 =(2tan(0) sin(0)=tan(0)) .4:([tan(6)]2—1:O)

):0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0.0:9.0:0:9.0.0:9.9.0:9.:9.0:0:0.0:0:9.0:0:0.0:0:0.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00010XX
TrigonometryExercise6 for No.10281

J=(2sin(0)—1=0) .2=(4[sin(0)] -1 =0)}
3=(sin(20)=0) 4=(sin(30)=1)

A=(2 [sin(e)]z— sin(0)—1=0) .2=(2 [cos(e)]z— sin(0)—1=0)
No2 =

No]:[

3=(2[sin(0)]* = sin(8) = 0) 4= (cos(0) —sin(0)=+/2)
S =(tan(0) sin(0) =sin(0)) 6=(4 [cos(e)]3 —3cos(0)=0)

N03:{1=(2cos(e)—1=0) .2=(4[sin(6)]2—3=0)}
3=(cos(30)=0) 4=(cos(20)=1)
I=(2[cos(0)]*+3cos(0)+1=0) .2=(2[sin(0)]*+3cos(6)—3=0)
Nod=| .3=(2[cos(0)]* +cos(6)=0) .4:(sin(8)+cos(6):«/5)
S =(tan(0) cos(B)=cos(0)) .6:(4[sin(8)]3—3sin(@):O)
NO5:[ 1=(2sin(0)+1=0) .2:(4[005(6)]2:1)}
3=(2tan(0)sin(0)=tan(0)) .4:(3[tan(9)]2—1:0)
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),0:9:9.0:9:9.0,9:9.9.0:9.:9.9:9.:9.9:9.:9,0:9.:9,0:9.:9.0,9:9.0,9:9.0.0:9.9.9:9.9,0:9.:9,0:9.:9,0:9.:9.0:9:9.0,9:9.0,9:9.0.0:9:0.0:9:9.0:9:0.0:9.0.0.9:0,0,0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00011XX
TrigonometryExercise6 for No.10437

Nol :[.1 =(2sin(0)-1=0) .2=(4[sin(0)]* -1 =0)}

3=(sin(20)=0) A4=(cos(40)=1)
I=(2[sin(0)]? =sin(0)—1=0) .2=(2[sin(0)]*—cos(0)-1=0)
No2 = .3=(2[sin(6)]2+sin(8)=0) .4:(sin(8)+cos(6):«/5)
J=(2tan(0) sin(0)=tan(0)) .6:(4[sin(6)]3—3sin(8)=0)

NO3:{1 —(2cos(0)—1=0) .2=(4[cos(0)]* -3 :0)}

3=(cos(30)=0) 4=(cos(20)=1)
I=(2[sin(0)] +3sin(0)+1=0) .2=(2[sin(0)]* +3 cos(6)—3=0)
Nod4=| 3=(2[sin(0)]*-sin(6)=0) .4:(sin(9)—cos(9):«/5)
S =(tan(0) cos(0)=tan(0)) 6=(4 [cos(e)]3 —cos(0)=0)
NO5:[ 1 =(2sin(0)+1=0) .2:(4[cos(9)]2:1)}
3= (tan(0) sin(0) =tan(6)) .4:([tan(6)]2—3:O)

):0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0.0:9.0:0:9.0.0:9.9.0:9.:9.0:0:0.0:0:9.0:0:0.0:0:0.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXM5/1-6800306-00012XX
TrigonometryExercise6 for No.10493

NO]_{I:(Zsin(O)—1=O) .2:(4[cos(6)]2—3:0)}
"L 3=(sin(30)=0) 4=(cos(40)=1)
J=(2[sin(0)-3sin(0)+1=0) .2=(2[cos(0)]* -3 sin(0)-3=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(9)+cos(9):«/5)
S =(tan(0) sin(0) =tan(0)) .6:(4[sin(9)]3—sin(9):0)
Noj,_{]:(2cos(9)—1:0) .2:(4[005(9)]2—1:0)}
L .3=(cos(20)=0) 4=(sin(20)=1)

I=(2[sin(0)] +sin(0)—1=0) .2=(2[cos(0)]* +sin(0)—1=0)
No4=| .3=(2[cos(0)]* +cos(6)=0) 4 =(sin(0) — cos(0) =«/5)
S =(tan(0) cos(0)=cos(0)) 6=(4 [cos(E))]3 —cos(0)=0)
1 =(2sin(0)+1=0) 2=(4[sin(0)’=1)

N05=[ 5 }
J3=(tan(0)cos(0)=tan(0)) .4=([tan(0)]"—1=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00013XX
TrigonometryExercise6 for No.10596

No _{1 —(2c0s(0)—1=0) .2=(4[sin(0)] -3 =0)}
L .3=(sin(36)=0) 4=(cos(40)=1)

I=(2[cos(0)] =3 cos(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2 = .3:(2[cos(6)]2+cos(6):O) .4:(cos(8)—sin(6):«/5)
J=(2tan(0) sin(0)=tan(0)) .6=(4[sin(6)]3—sin(8)=0)
N03:{1:(25in(8)—1=0) .2:(4[cos(6)]2—1:0)}
3=(sin(20)=0) 4=(cos(20)=1)
d=(2[cos(0)]+3cos(0)+1=0) .2=(2[sin(0)]*—cos(0)—1=0)
Nod=| .3=(2[sin(8)]—sin(8)=0) 4= (sin(0) - cos(0)=4/2)
S =(tan(0) cos(0)=cos(0)) .6:(4[sin(9)]3—3sin(@)zO)
No5:{ J=(2sin(0)+1=0) .2:(4[sin(6)]2:1)}

J=(tan(0)sin(0) =sin(0)) .4=(3 [tan(e)]z— 1=0)
00:0:0:010:00:0:0:00:0:0:0.0:0.00:0.0.0:0:0:0:0.0:0.0.0.0:0:0:0.0.0:0.0.0.0.0.0.0.0:0:0:0:0.0:0.0.:0.0.0.0:0:0.0:0.0:0.0:0.0.0:0:0:0:0:0.0:0.0:0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXM5/1-6800306-00014XX
TrigonometryExercise6 for No.10599

NoJ _{1 —(2sin(0)+1=0) .2=(4[cos(8)] -1 :0)}
"L 3=(sin(20)=0) 4=(cos(20)=1)

I=(2[cos(0)] —cos(8)—1=0) .2=(2[cos(0)]*+3sin(0)—3=0)
No2=| 3=(2[sin(0)]*-sin(6)=0) .4:(sin(9)+cos(9):«/5)
S=(2tan(0) cos(0)=tan(0)) .6=(4[sin(9)]3—sin(9):0)
N03:{1=(2cos(e)—1=0) .2=(4[sin(6)]2—3=0)}
3=(cos(30)=0) 4=(sin(40)=1)
I=(2[cos(0)] +cos(0)=1=0) .2=(2[sin(0)]* =3 cos(6)—3=0)
No4 = .3=(2[sin(8)]2+sin(8):0) .4:(sin(8)—cos(6):«/5)
JS=(2tan(0)sin(0)=tan(0)) .6:(4[005(8)]3—3cos(6)=0)
N05:[ 1=(2sin(0)—1=0) .2=(4[sin(8)]2:1)}

3=(tan(0) cos(8) =tan(0)) .4=(3 [tan(0)]*—1=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00015XX
TrigonometryExercise6 for No.11068

Noi :{1 —(2sin(0)—1=0) .2=(4[cos(8)]*—1 =0)}

3=(cos(40)=0) 4=(sin(30)=1)
I =(2[sin(0)]*+3sin(0)+1=0) .2=(2[cos(0)]*—sin(0)—1=0)
No2 = .3:(2[cos(6)]2—cos(6):O) .4:(cos(8)—sin(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6:(4[sin(8)]3—3sin(@):O)
N03:{1:(25in(8)+1=0) .2:(4[cos(6)]2—3:0)}
3=(cos(30)=0) 4=(sin(20)=1)
I=(2[cos(0)] =3 cos(0)+1=0) .2=(2[cos(0)]* +sin(0)—1=0)
Nod=| 3=(2[cos(8)]+cos(8)=0) 4= (sin(0) - cos(0)=4/2)
5 =(tan(0) sin(0) =tan(0)) .6:(4[sin(9)]3—sin(9):0)
N05:{ 1=(2cos(0)—1=0) .2:(4[sin(6)]2:3)}
3 =(tan(0) cos(0)=cos(0)) .4:([tan(6)]2—1:0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00016XX
TrigonometryExercise6 for No.11423

NO]_[.]:(Zsin(8)+1:O) .2:(4[sin(6)]2—1=0)}
L .3=(cos(30)=0) 4=(sin(40)=1)
d=(2[cos(0)]=3cos(0)+1=0) .2=(2[cos(0)]*=3sin(0)—3=0)
No2 = 3=(2[sin(0)]* —sin(6)=0) .4:(sin(9)+cos(9):«/5)
S =(tan(0) sin(0) =tan(0)) .6=(4[cos(9)]3—3cos(e):O)
N03_{1=(2sm(e)—1:0) .2:(4[005(9)]2—3:0)}
L .3=(sin(26)=0) 4=(cos(20)=1)

I=(2[sin(0)]? =sin(0)—1=0) .2=(2[cos(0)]*—sin(0)-1=0)
No4=| .3=(2[cos(0)]* +cos(6)=0) .4=(cos(8)—sin(6):«/5)

S =(2tan(0) cos(0)=tan(0)) .6:(4[sin(6)]3—3sin(8)=0)
1=(2cos(8)—1=0) 2=(4[cos(0)P=1) }

J3=(2tan(0)sin(0)=tan(0)) .4=(3 [tan(e)]z— 1=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00017XX
TrigonometryExercise6 for No.11440

Noi :[.1 =(25sin(0)~1=0) .2=(4[sin(0)] -3 :0)}

3=(cos(40)=0) 4=(sin(40)=1)
I=(2[cos(0)]+3cos(0)+1=0) .2=(2[sin(0)]*=cos(6)—1=0)
No2 = .3:(2[cos(6)]2—cos(6):O) .4:(sin(8)—cos(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6=(4[cos(8)]3—3cos(@):O)
N03:{1:(25in(8)+1=0) .2:(4[cos(6)]2—1:0)}
3=(cos(30)=0) 4=(sin(30)=1)
I=(2[cos(0)] —cos(8)—1=0) .2=(2[cos(0)]*+3sin(0)—3=0)
Nod=| 3=(2[sin(0)]+sin(8)=0) 4=(sin(0) + cos(0) =4/2)
S=(2tan(0)sin(0)=tan(0)) .6:(4[005(9)]3—005(9):0)
N05:[ 1=(2cos(0)—1=0) .2:(4[sin(9)]2:1)}
.3 =(tan(0) cos(0)=tan(0)) .4:([tan(6)]2—3:O)

):0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0.0:9.0:0:9.0.0:9.9.0:9.:9.0:0:0.0:0:9.0:0:0.0:0:0.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00018XX
TrigonometryExercise6 for No.11466

Nolz{lz(Zcos(O)—lzm .2:(4[cos(6)]2—1:0)}
3=(sin(30)=0) 4=(cos(30)=1)
I=(2[sin(0)] —sin(0)-1=0) .2=(2[sin(0)]*—cos(6)—1=0)
No2=| 3=(2[sin(0)]*+sin(6)=0) 4=(sin(0) + cos(0) =4/2)
S=(2tan(0) cos(0)=tan(0)) .6=(4[sin(9)]3—3sin(G)zO)
N03:{1=(2sin(e)+1=0) .2:(4[005(9)]2—3:0)}
3=(sin(20)=0) 4=(sin(40)=1)
I=(2[cos(0)]* =3 cos(0)+1=0) .2=(2[cos(0)]*=3sin(0)—3=0)
Nod = 3=(2[sin(0)]* —sin(6)=0) .4:(sin(8)—cos(6):«/5)
JS=(2tan(0)sin(0)=tan(0)) .6=(4[cos(8)]3—3cos(@):O)

1=(2sin(0)-1=0) 2=(4[sin(0)]*=1)

N05:[ 5 }
J3=(tan(0) cos(0)=tan(0)) .4=(3[tan(0)]"-1=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00019XX
TrigonometryExercise6 for No.11863

I=(2sin(0)+1=0) .2=(4[cos(8)]* -3 :0)}
3=(sin(30)=0) 4=(cos(30)=1)

I=(2[sin(0)]? =sin(0)—1=0) .2=(2[cos(0)]*—sin(0)-1=0)
No2 =

No]z{

3=(2 [cos(@)]2 —cos(0)=0) 4 =(cos(0)—sin(0) =«/5)
J=(2tan(0) sin(0)=tan(0)) 6=(4 [sin(@)]3 —-3sin(0)=0)

No3 :[-1 =(2sin(0)—1=0) .2=(4[sin(0)]* -1 :o)}

3=(sin(40)=0) 4=(cos(40)=1)
d=(2[cos(0)]=3cos(0)+1=0) .2=(2[cos(0)]*=3sin(0)—3=0)
Nod=| 3=(2[sin(0)] +sin(6)=0) 4= (sin(0) - cos(0)=4/2)
S =(tan(0) sin(0) =sin(0)) 6=(4 [cos(e)]3 —cos(0)=0)

| 1=(2cos(8)-1=0) 2=(4[sin(0)]>=3)

No —{ }
3 =(2tan(0) cos(0)=tan(0)) .4:([tan(6)]2— 1=0)
PO 000 0.0:00:0:0:0:0:0:0.0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:00.0:0:0:0:0:0:0.0:0.0:0:0:0:0:0:0.0:0.00:0:0:0:00:010.0:0:0:0:0:0.0:00:0:0:0:0'¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00020XX
TrigonometryExercise6 for No.11967

NO]:[.]:(Zsin(O)—I:O) .2:(4[sin(6)]2—1=0)}
3=(cos(40)=0) 4=(sin(40)=1)
I=(2[cos(0)] —cos(0)—=1=0) .2=(2[sin(8)]*+3 cos(6)—3=0)
No2=| 3=(2[sin(0)]* +sin(6)=0) .4:(005(9)—sin(9):«/5)
.5 =(tan(0) sin(0) =sin(0)) 6=(4[sin(0)]’ —sin(6)=0)
N03:[.1:(2sin(e)+1:0) .2=(4[sin(6)]2—3=0)}
3=(cos(30)=0) 4=(sin(30)=1)
I=(2[cos(0)] +cos(0)=1=0) .2=(2[sin(0)]* =3 cos(6)—3=0)
Nod=| .3=(2[sin(0)]*—sin(6)=0) .4:(sin(8)+cos(6):«/5)
S =(tan(0) cos(B)=cos(0)) .6:(4[sin(8)]3—3sin(8)=0)
N05=[ 1=(2cos(8)—1=0) .2:(4[005(6)]2:1)}
3 =(2tan(0)sin(0)=tan(0)) .4:([tan(9)]2—1:0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00021XX
TrigonometryExercise6 for No.13031

Noi :[.1 =(25sin(0)~1=0) .2=(4[sin(0)] -3 :0)}

3=(sin(20)=0) 4=(cos(20)=1)
I=(2[cos(0)] =3 cos(0)+1=0) .2=(2[cos(0)]* —sin(6)—1=0)
No2 = .3:(2[cos(6)]2+cos(6):O) .4:(cos(8)—sin(6):«/5)
J=(2tan(0) sin(0)=tan(0)) .6:(4[sin(8)]3—3sin(@):O)
N03:{1:(25in(8)+1=0) .2:(4[cos(6)]2—1:0)}
3=(sin(40)=0) 4=(sin(30)=1)
d=(2[cos(0)]+3cos(0)+1=0) .2=(2[cos(0)]* +sin(0)—1=0)
Nod=| .3=(2[sin(8)]—sin(8)=0) 4= (sin(0) - cos(0)=4/2)
S =(2tan(0) cos(0)=tan(0)) 6=(4[sin(8)] —sin(6)=0)
N05:[ I=(2cos(8)—1=0) .2:(4[cos(9)]2:3)}
3= (tan(0) sin(0) =tan(6)) .4:([tan(6)]2—3:O)
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TrigonometryExercise6 for No.13093

NO]_[.]:(Zsin(8)+1:O) .2:(4[sin(6)]2—1=0)}
L .3=(sin(30)=0) 4=(cos(20)=1)
I=(2[cos(0)] —cos(8)—1=0) .2=(2[sin(0)]* =3 cos(0)—3=0)
No2=| .3=(2[sin(0)]*—sin(6)=0) .4:(sin(9)+cos(9):«/5)
S =(tan(0) cos(0)=tan(0)) .6=(4[sin(9)]3—sin(9):0)
N03_{1=(2cos(e)—1=0) .2=(4[sin(6)]2—3=0)}
L .3=(sin(26)=0) 4=(cos(40)=1)
I =(2[sin(0)] +sin(0)—1=0) .2=(2[cos(0)]*+3sin(0)-3=0)
Nod=| 3=(2[cos(0)]* +cos(6)=0) .4=(cos(8)—sin(6):«/5)
S =(tan(0) sin(6) =sin(0)) .6:(4[005(8)]3—005(8):0)

1=(2sin(0)—1=0) 2=(4[cos(0)]*=3)

N05:[ 5 }
3=(tan(0) cos(0)=cos(0)) .4=([tan(0)]" —3=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00023XX
TrigonometryExercise6 for No.13163

Nol :{1 —(2cos(8)~1=0) .2=(4[cos(8)]* -3 :0)}

3=(cos(40)=0) 4=(sin(40)=1)
I=(2[cos(0)] =3 cos(0)+1=0) .2=(2[cos(0)]* —sin(6)—1=0)
No2 = .3:(2[cos(6)]2—cos(6):O) .4:(sin(8)—cos(6):«/5)
S =(tan(0) cos(0)=tan(0)) .6:(4[005(6)]3—cos(6)20)
N03:{1:(25in(8)+1=0) .2:(4[cos(6)]2—1:0)}
3=(cos(20)=0) 4=(sin(20)=1)
I=(2[cos(0)]+3cos(0)+1=0) .2=(2[sin(0)]*+cos(0)—1=0)
Nod=| 3=(2[cos(8)]+cos(8)=0) 4= (sin(0) + cos(0) =4/2)
S =(tan(0) cos(0)=cos(0)) .6=(4[sin(9)]3—sin(9)=0)
No5:{ 1=(2sin(0)—1=0) .2:(4[sin(6)]2:1)}
J=(tan(0)sin(0) =sin(0)) .4=(3 [tan(e)]z— 1=0)

):0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0.0:9.0:0:9.0.0:9.9.0:9.:9.0:0:0.0:0:9.0:0:0.0:0:0.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00024XX
TrigonometryExercise6 for No.13403

Nolz{lz(Zcos(O)—lzm .2:(4[cos(6)]2—3:0)}
3=(sin(20)=0) 4=(cos(30)=1)
I =(2[sin(0)]*=3sin(0)+1=0) .2=(2[sin(0)]*+cos(8)—1=0)
No2=| 3=(2[sin(0)]*—sin(6)=0) 4= (cos(0) —sin(0)=4/2)
.9 =(tan(0) cos(0) =tan(0)) 6=(4[cos(0)]’ —cos(0)=0)
N03:{1:(2sm(e)+1:0) .2=(4[cos(6)]2—1=0)}
3=(sin(40)=0) 4=(cos(40)=1)
I =(2[sin(0)]" +sin(0)=1=0) .2=(2[cos(0)]*=3sin(0)-3=0)
Nod=| 3=(2[cos(0)]* +cos(6)=0) .4:(sin(8)—cos(6):«/5)
S =(tan(0) cos(B)=cos(0)) .6=(4[sin(8)]3—sin(8):0)

1=(2sin(0)—1=0) 2=(4[sin(0)]*=1)

N05=[ ) ) 5 }
J=(tan(0)sin(0)=sin(0)) .4=([tan(0)]"-3=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00025XX
TrigonometryExercise6 for No.13459

Noi :[.1 =(2sin(0) +1=0) .2=(4[sin(0)] -3 :0)}

3=(sin(30)=0) 4=(cos(20)=1)
I =(2[sin(0)]*-sin(0)—1=0) .2=(2[cos(0)]*+3sin(0)-3=0)
No2 = .3:(2[cos(8)]2—cos(8):O) .4:(sin(8)—cos(6):«/5)
S =(tan(0) sin(0) =sin(0)) .6=(4[sin(8)]3—sin(8):0)
N03:[.1:(25in(8)—1=0) .2:(4[sin(6)]2—1=0)}
3=(cos(30)=0) 4=(sin(40)=1)
d=(2[cos(0)]+3cos(0)+1=0) .2=(2[sin(0)]*—cos(0)—1=0)
Nod=| .3=(2[sin(8)]+sin(8)=0) 4= (sin(0) + cos(0) =4/2)
S=(2tan(0) cos(0)=tan(0)) .6:(4[005(9)]3—005(9):0)

B A=(2cos(0)—1=0) 2=(4[cos(0)]*=1)

.3 =(tan(0) cos(0)=tan(0)) .4:([tan(6)]2—1:O)
00:0:0:010:00:0:0:00:0:0:0.0:0.00:0.0.0:0:0:0:0.0:0.0.0.0:0:0:0.0.0:0.0.0.0.0.0.0.0:0:0:0:0.0:0.0.:0.0.0.0:0:0.0:0.0:0.0:0.0.0:0:0:0:0:0.0:0.0:0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00026XX
TrigonometryExercise6 for No.13581

NO]:{.I:(ZCOS(O)—1=O) .2:(4[sin(6)]2—1:0)}
3=(sin(20)=0) 4=(cos(20)=1)
J=(2[sin(0)]*=3sin(0)+1=0) .2=(2[sin(0)]* - cos(8)—1=0)
No2=| .3=(2[cos(8)]* = cos(8)=0) 4= (sin(0) - cos(0)=4/2)
S=(2tan(0)sin(0)=tan(0)) .6:(4[005(9)]3—3cos(O)zO)
N03:{1:(2sin(e)+1:0) .2:(4[005(9)]2—1:0)}
3=(sin(30)=0) 4=(cos(40)=1)
I =(2[sin(0)]F -sin(0)—1=0) .2=(2[cos(0)]*—=3sin(0)-3=0)
Nod=| 3=(2[cos(0)]* +cos(6)=0) .4:(sin(8)+cos(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6:(4[005(8)]3—005(8):0)

1=(2sin(0)-1=0) 2=(4[cos(0)]*=3)

N05=[ ) 5 }
J=(tan(0)sin(0)=tan(0)) .4=(3[tan(0)]"—-1=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00027XX
TrigonometryExercise6 for No.13668

Nol :{1 —(2cos(8)~1=0) .2=(4[cos(8)]* -3 :0)}

3=(cos(30)=0) 4=(cos(40)=1)
I=(2[cos(0)] —cos(0)=1=0) .2=(2[cos(0)]*=3sin(6)—3=0)
No2 = .3=(2[sin(8)]2—sin(8):0) .4:(sin(8)+cos(6):«/5)
S =(tan(0) cos(0) =tan(0)) .6:(4[sin(8)]3—3sin(8)=0)
N03:[.1:(25in(8)+1=0) .2:(4[sin(6)]2—1=0)}
3=(sin(40)=0) 4=(sin(20)=1)
1=(2[cos(0)] =3 cos(0)+1=0) .2=(2[cos(0)]*—sin(0)—1=0)
Nod=| .3=(2[sin(8)]+sin(8)=0) 4= (sin(0) - cos(0)=4/2)
J=(2tan(0)sin(0)=tan(0)) 6=(4[cos(0)]’ —cos(0)=0)

| .I=(2sin(8)-1=0) 2=(4[sin(8)]*=3)

J=(tan(0) cos(B)=cos(0)) .4=(3 [tan(e)]z— 1=0)
00:0:0:010:00:0:0:00:0:0:0.0:0.00:0.0.0:0:0:0:0.0:0.0.0.0:0:0:0.0.0:0.0.0.0.0.0.0.0:0:0:0:0.0:0.0.:0.0.0.0:0:0.0:0.0:0.0:0.0.0:0:0:0:0:0.0:0.0:0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00028XX
TrigonometryExercise6 for No.13716

J=(2sin(0)+1=0) .2=(4[sin(0)]*-3 =0)}
3=(sin(40)=0) 4=(sin(30)=1)

d=(2[cos(0)] —cos(8)=1=0) .2=(2[sin(0)]*=cos(0)—1=0)
No2 =

No]:[

3=(2[cos(0)]2 = cos(6)=0) 4= (sin(0) - cos(0) =4/2)
J=(tan(0) sin(0) =tan(0)) 6=(4[cos(0)]’ —cos(0)=0)

NOS:{I —(2cos(8)—1=0) .2=(4[cos(8)] -1 =0)}
3=(cos(20)=0) 4=(sin(20)=1)
I=(2[cos(0)]*+3cos(0)+1=0) .2=(2[sin(0)]*+3cos(6)—3=0)
Nod=| .3=(2[cos(0)]* +cos(6)=0) .4:(sin(8)+cos(6):«/5)
S =(tan(0) sin(6) =sin(0)) 6=(4 [cos(E))]3 —3cos(0)=0)

1=(2sin(0)—1=0) 2=(4[sin(0)]*=1)

N05=[ 5 }
J3=(tan(0)cos(0)=tan(0)) .4=([tan(0)]"—1=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00029XX
TrigonometryExercise6 for No.13720

Nol :[.1 =(2sin(0)+1=0) .2=(4[sin(0)]* -1 =0)}

3=(sin(40)=0) 4=(sin(20)=1)
I =(2[sin(0)]*=3sin(0)+1=0) .2=(2[cos(0)]*—sin(0)—1=0)
No2 = .3:(2[cos(6)]2+cos(6):O) .4:(sin(8)+cos(6):«/5)
S =(tan(0) cos(0)=tan(0)) .6=(4[sin(8)]3—sin(8)=0)
NO3:{1:(2005(9)—1:O) .2:(4[cos(6)]2—3:0)}
3=(sin(30)=0) 4=(cos(30)=1)
I=(2[sin(0)]*+3sin(0)+1=0) .2=(2[cos(0)]* +sin(0)—1=0)
Nod=| 3=(2[sin(0)]*—sin(0)=0) 4= (cos(0) —sin(0)=4/2)
5=(2tan(0)sin(0) = tan(0)) 6= (4[sin(0)]’ - 3sin(0)=0)
NO5:[ 1 =(2sin(0)—1=0) .2:(4[cos(9)]2:1)}
J=(tan(0)sin(B)=tan(0)) .4=(3 [tan(@)]2 -1=0)

):0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0.0:9.0:0:9.0.0:9.9.0:9.:9.0:0:0.0:0:9.0:0:0.0:0:0.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00030XX
TrigonometryExercise6 for No.14307

NO]:{.I:(ZCOS(O)—1=O) .2:(4[sin(6)]2—1:0)}

3=(cos(30)=0) 4=(cos(40)=1)
J=(2[sin(0) —sin(0)—1=0) .2=(2[sin(0)]’ - cos(0)—1=0)

No2=| .3=(2[cos(8)]*+cos(8)=0) 4= (sin(0) - cos(0) =1/2)
S=(2tan(0) cos(0)=tan(0)) .6:(4[cos(e)]3—3cos(9):0)
N03:[.1=(2sin(e)+1=0) .2:(4[005(9)]2—3:0)}

3=(sin(40)=0) 4=(sin(30)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
No4=| .3=(2[cos(0)]*—cos(0)=0) .4:(cos(8)—sin(6):«/5)
JS=(2tan(0)sin(0)=tan(0)) .6:(4[cos(8)]3—cos(8):O)
N05=[ 1=(2sin(0)—1=0) .2:(4[005(8)]2:1)}
3=(tan(0) sin(0) =tan(0)) .4=([tan(0)]* =3 =0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00031XX
TrigonometryExercise6 for No.14598

Noi :{1 —(2sin(0)+1=0) .2=(4[cos(0)]—1 =0)}

3=(sin(30)=0) 4=(sin(20)=1)
I=(2[cos(0)] —cos(0)=1=0) .2=(2[sin(0)]* =3 cos(6)—3=0)
No2 = .3:(2[cos(8)]2—cos(8):O) .4:(sin(8)—cos(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6:(4[cos(8)]3—cos(8):O)
N03:{]:(2cos(8)—120) .2:(4[sin(6)]2—1:0)}
3=(cos(30)=0) 4=(cos(20)=1)
I =(2[sin(0)]*=3sin(0)+1=0) .2=(2[cos(0)]*—sin(8)—1=0)
Nod=| 3=(2[sin(0)]*+sin(6)=0) 4= (sin(0) + cos(0) =4/2)
S =(tan(0) cos(0)=cos(0)) .6:(4[sin(9)]3—3sin(@)zO)

| 1=(2sin(8)-1=0) 2=(4[cos(0)]?=3)

3= (tan(0) sin(0) =sin(0)) .4:([tan(6)]2—3:O)
00:0:0:010:00:0:0:00:0:0:0.0:0.00:0.0.0:0:0:0:0.0:0.0.0.0:0:0:0.0.0:0.0.0.0.0.0.0.0:0:0:0:0.0:0.0.:0.0.0.0:0:0.0:0.0:0.0:0.0.0:0:0:0:0:0.0:0.0:0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00032XX
TrigonometryExercise6 for No.14624

NO]:[.]:(Zsin(O)—I:O) .2:(4[sin(6)]2—3=0)}
3=(cos(40)=0) 4=(sin(30)=1)
I =(2[sin(0)]*=3sin(0)+1=0) .2=(2[sin(0)]*—cos(8)—1=0)
No2=| .3=(2[cos(8)]*+cos(8)=0) 4= (sin(0) + cos(0) =4/2)
S=(2tan(0) cos(0)=tan(0)) .6:(4[sin(9)]3—3sin(@)zO)
N03:[1=(2sm(e)+1=0) .2:(4[sin(9)]2—120)}
3=(cos(20)=0) 4=(cos(30)=1)
I=(2[sin(0)]*+3sin(0)+1=0) .2=(2[cos(0)]*+sin(0)—1=0)
Nod=| .3=(2[sin(0)]*—sin(6)=0) .4:(cos(8)—sin(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[cos(8)]3—cos(8):O)

1=(2cos(8)-1=0) 2=(4[cos(0)]*=3)

N05=[ ) ) 5 }
J=(tan(0)sin(0)=sin(0)) .4=([tan(0)]"-3=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00033XX
TrigonometryExercise6 for No.14641

NO]:[.]=(2sin(9)+1:0) .2=(4[sin(6)]2—3=0)}
3=(cos(20)=0) 4=(sin(20)=1)
I=(2[sin(0)F +3sin(0)+1=0) .2=(2[sin(0)]* +3 cos(6)—3=0)
No2 = .3=(2[sin(8)]2—sin(8):0) .4:(sin(8)—cos(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6:(4[sin(8)]3—3sin(@):O)
NO3:{1:(2005(9)—1:O) .2:(4[cos(6)]2—1:0)}
3=(cos(30)=0) 4=(sin(40)=1)
d=(2[cos(0)] —cos(8)=1=0) .2=(2[cos(0)]*—sin(0)—1=0)
Nod=| 3=(2[sin(8)]+sin(8)=0) 4= (cos(0) —sin(0)=4/2)
S =(tan(0) cos(0)=tan(0)) .6:(4[005(9)]3—005(9):0)

| 1=(2sin(6)-1=0) 2=(4[cos(0)]?=3)

3 =(tan(0) cos(0)=cos(0)) .4:([tan(6)]2—3:0)
00:0:0:010:00:0:0:00:0:0:0.0:0.00:0.0.0:0:0:0:0.0:0.0.0.0:0:0:0.0.0:0.0.0.0.0.0.0.0:0:0:0:0.0:0.0.:0.0.0.0:0:0.0:0.0:0.0:0.0.0:0:0:0:0:0.0:0.0:0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00034XX
TrigonometryExercise6 for No.14681

NO]:{]:(Zsin(e)—I:O) .2:(4[cos(6)]2—1:0)}
3=(sin(20)=0) 4=(cos(20)=1)
I=(2[sin(0)]*=3sin(0)+1=0) .2=(2[cos(0)]* —sin(0)—1=0)
No2=| .3=(2[cos(8)]* = cos(8)=0) 4= (cos(0) —sin(0)=4/2)
S =(2tan(0) cos(0)=tan(0)) 6=(4[sin(0)]’ —sin(6)=0)
N03:{1=(2cos(e)—1=0) .2=(4[sin(6)]2—3=0)}
3=(sin(40)=0) 4=(cos(30)=1)
I =(2[sin(0)]F -sin(0)—1=0) .2=(2[cos(0)]*—=3sin(0)-3=0)
No4=| .3=(2[sin(0)]* +sin(0)=0) .4:(sin(8)—cos(6):«/5)
S =(tan(0) cos(B)=cos(0)) .6:(4[cos(@)]3—3cos(8):O)
N05=[ =(2sin(0)+1=0) .2=(4[sin(8)]2=1)}
3= (tan(0) sin(0) =tan(0)) .4:([tan(9)]2—1:0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00035XX
TrigonometryExercise6 for No.14688

Noi :[.1 =(2sin(0) +1=0) .2=(4[sin(0)] -3 :0)}

3=(sin(30)=0) 4=(cos(20)=1)
I =(2[sin(0)]*-sin(0)—1=0) .2=(2[cos(0)]*+3sin(0)-3=0)
No2 = .3:(2[cos(8)]2+cos(8):O) .4:(sin(8)—cos(6):«/5)
J=(tan(0) cos(B)=cos(0)) .6:(4[005(8)]3—005(8):0)
N03:{1:(25in(8)—1=0) .2:(4[cos(6)]2—1:0)}
3=(cos(40)=0) 4=(sin(20)=1)
I =(2[sin(0)]*+3sin(0)+1=0) .2=(2[cos(0)]*—sin(8)—1=0)
Nod=| .3=(2[cos(8)]* = cos(8)=0) 4= (cos(0) —sin(0)=4/2)
.5 =(tan(0) cos(0) =tan(0)) 6=(4[sin(0)]’ —sin(6)=0)

B A=(2cos(0)—-1=0) .2=(4[cos(9)]2:3)

No —[ }
J=(2tan(0)sin(0)=tan(0)) .4= ([tan(@)]2 -1=0)
PO 000 0.0:00:0:0:0:0:0:0.0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:00.0:0:0:0:0:0:0.0:0.0:0:0:0:0:0:0.0:0.00:0:0:0:00:010.0:0:0:0:0:0.0:00:0:0:0:0'¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00036XX
TrigonometryExercise6 for No.14703

NO]:{.]:(Zsin(8)+1:O) .2:(4[cos(6)]2—3:0)}
3=(cos(30)=0) 4=(cos(20)=1)
d=(2[cos(0)]=3cos(0)+1=0) .2=(2[cos(0)]*=3sin(0)—3=0)
No2 = 3=(2[sin(0)]* —sin(0)=0) .4:(sin(9)—cos(9):«/5)
.5=(tan(0) sin(0) = tan(0)) 6=(4[sin(0)] - 3sin(0)=0)
N03:[.1:(2sin(e)—1:0) .2=(4[sin(6)]2—3=0)}
3=(sin(40)=0) 4=(sin(30)=1)
I=(2[sin(0)] +sin(0)—1=0) .2=(2[cos(0)]* +sin(0)—1=0)
No4=| .3=(2[sin(0)]* +sin(0)=0) .4:(sin(8)+cos(6):«/5)
J=(2tan(0) sin(0)=tan(0)) .6:(4[cos(@)]3—3cos(8):O)

1=(2cos(8)—1=0) .2:(4[005(6)]2:1)}

3=(2tan(0) cos(0)=tan(0)) .4=([tan(0)]*—1=0)
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N05:[
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00037XX
TrigonometryExercise6 for No.14714

Noi :{1 —(2sin(0)+1=0) .2=(4[cos(0)]—1 =0)}

3=(sin(30)=0) 4=(sin(40)=1)
I =(2[sin(0)]*=3sin(0)+1=0) .2=(2[cos(0)]*+sin(0)—1=0)
No2 = .3=(2[sin(6)]2+sin(8)=0) .4:(sin(8)—cos(6):«/5)
J=(2tan(0) sin(0)=tan(0)) .6=(4[sin(8)]3—sin(8)=0)
N03:{1:(25in(8)—1=0) .2:(4[cos(6)]2—3:0)}
3=(cos(30)=0) 4=(cos(40)=1)
I=(2[cos(0)]+3cos(0)+1=0) .2=(2[cos(0)]*—sin(0)—1=0)
Nod=| 3=(2[cos(8)]=cos(8)=0) 4= (sin(0) + cos(0) =4/2)
J=(tan(0) sin(0) =tan(0)) 6=(4[cos(0)]’ —cos(0)=0)

| I=(2cos(0)-1=0) 2=(4[sin(8)]*=1)

3 =(tan(0) cos(0)=cos(0)) .4:([tan(6)]2—1:0)
00:0:0:010:00:0:0:00:0:0:0.0:0.00:0.0.0:0:0:0:0.0:0.0.0.0:0:0:0.0.0:0.0.0.0.0.0.0.0:0:0:0:0.0:0.0.:0.0.0.0:0:0.0:0.0:0.0:0.0.0:0:0:0:0:0.0:0.0:0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00038XX
TrigonometryExercise6 for No.14746

NO]_{J:(zsin(e)H:m .2:(4[cos(6)]2—1:0)}
L 3=(cos(40)=0) 4=(sin(20)=1)
J=(2[sin(0)P-3sin(0)+1=0) .2=(2[sin(0)]* -3 cos(0)—3=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(9)+cos(9):«/5)
S=(2tan(0) cos(0)=tan(0)) .6:(4[sin(9)]3—3sin(@)zO)
Noj,_{]:(2cos(9)—1:0) .2:(4[005(9)]2—3:0)}
L .3=(cos(20)=0) 4=(cos(30)=1)

I=(2[sin(0)]? =sin(0)—1=0) .2=(2[cos(0)]*—sin(0)-1=0)
No4=| .3=(2[sin(0)]* +sin(0)=0) 4= (sin(@)—cos(@)zﬁ)
S =(tan(0) sin(0) =sin(0)) 6=(4 [cos(@)]3 —3cos(0)=0)
1=(2sin(8)-1=0) .2=(4[sin(6)]2:3)}

3 =(2tan(0)sin(0)=tan(0)) .4:([‘[an(9)]2 -1=0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00039XX
TrigonometryExercise6 for No.15000

Nol :{1 —(2cos(8)~1=0) .2=(4[cos(8)]* -3 :0)}

3=(cos(40)=0) 4=(sin(30)=1)
I=(2[cos(0)] —cos(0)=1=0) .2=(2[cos(0)]*=3sin(6)—3=0)
No2 = .3:(2[cos(8)]2—cos(8):O) .4=(cos(8)—sin(6):«/5)
S =(tan(0) sin(0) =sin(0)) .6:(4[005(8)]3—3cos(6)=0)
N03:[.1:(25in(8)+1=0) .2:(4[sin(6)]2—1=0)}
3=(cos(20)=0) 4=(sin(20)=1)
I=(2[cos(0)] =3 cos(0)+1=0) .2=(2[sin(0)]*—cos(0)—1=0)
Nod=| 3=(2[cos(8)]+cos(8)=0) 4= (sin(0) - cos(0)=4/2)
S =(tan(0) cos(0)=cos(0)) .6=(4[sin(9)]3—sin(9)=0)

| I=(2sin(8)-1=0) 2=(4[sin(0)]*=3)

No —[ }
J=(tan(0)sin(B)=tan(0)) .4=(3 [tan(@)]2 -1=0)
PO 000 0.0:00:0:0:0:0:0:0.0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:00.0:0:0:0:0:0:0.0:0.0:0:0:0:0:0:0.0:0.00:0:0:0:00:010.0:0:0:0:0:0.0:00:0:0:0:0'¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00040XX
TrigonometryExercise6 for No.15012

NO]:[.]:(Zsin(8)+1:O) .2:(4[sin(6)]2—3=0)}
3=(sin(30)=0) 4=(sin(40)=1)
1 =(2[sin(0)]P +sin(0)—1=0) .2=(2[cos(0)]*+3sin(0)—-3=0)
No2=| .3=(2[cos(0)]*=cos(0)=0) .4:(sin(9)—cos(9):«/5)
S =(tan(0) cos(0)=tan(0)) .6:(4[005(9)]3—cos(e)=0)
Noj,:{]:(2cos(9)—1:0) .2:(4[005(9)]2—3:0)}
3=(sin(20)=0) 4=(cos(40)=1)
I=(2[cos(0)]+3cos(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(8)+cos(6):«/5)
S =(tan(0) sin(0) =tan(6)) .6:(4[sin(8)]3—3sin(@):O)
NO5:[ 1=(2sin(0)—1=0) .2=(4[sin(6)]2:1)}
.3=(tan(0) sin(0) =sin(0)) .4=(3[tan(9)]2—1:0)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800306-00041XX
TrigonometryExercise6 for No.15024

Noi :[.1 =(25sin(0)~1=0) .2=(4[sin(0)] -3 :0)}

3=(sin(20)=0) 4=(sin(30)=1)
I=(2[cos(0)]*—cos(0)—1=0) .2=(2[cos(0)]*—sin(0)-1=0)
No2 = .3=(2[sin(6)]2+sin(8)=0) .4:(sin(8)—cos(6):«/5)
J=(2tan(0) sin(0)=tan(0)) .6:(4[cos(8)]3—cos(8):O)
NO3:{1:(2005(9)—1:O) .2:(4[cos(6)]2—3:0)}
3=(cos(40)=0) 4=(sin(40)=1)
I=(2[sin(0)] +3sin(0)+1=0) .2=(2[sin(0)]* +3 cos(6)—3=0)
Nod=| .3=(2[cos(0)]*—cos(0)=0) .4:(cos(9)—sin(9):«/5)
S =(tan(0) sin(0) =tan(0)) 6=(4[sin(0)]’ —sin(6)=0)

~ I=(2sin(0)+1=0) 2=(4[cos(0)]*=1)

No —{ }
J=(2tan(0)cos(0)=tan(0)) .4= ([tan(@)]2 -3=0)
PO 000 0.0:00:0:0:0:0:0:0.0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:00.0:0:0:0:0:0:0.0:0.0:0:0:0:0:0:0.0:0.00:0:0:0:00:010.0:0:0:0:0:0.0:00:0:0:0:0'¢
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TrigonometryExercise6 for No.15032

NO]:{.I:(ZCOS(O)—1=O) .2:(4[sin(6)]2—3:0)}
3=(cos(40)=0) 4=(sin(30)=1)
I=(2[cos(0)] =3 cos(0)+1=0) .2=(2[sin(0)]*—cos(0)—1=0)
No2=| .3=(2[sin(8)]+sin(8)=0) 4= (cos(0) —sin(0)=4/2)
.9 =(tan(0) cos(0) =tan(0)) 6=(4[sin(8)] —sin(6)=0)
N03:{1=(2sm(e)+1=0) .2:(4[005(9)]2—1:0)}
3=(cos(30)=0) 4=(sin(20)=1)
1=(2[cos(0)] —cos(0)=1=0) .2=(2[cos(0)]* =3 sin(6)—3=0)
Nod=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(8)+cos(6):«/5)
S =(tan(0) cos(B)=cos(0)) .6:(4[cos(8)]3—cos(8):O)
N05=[ 1=(2sin(0)—1=0) .2=(4[sin(6)]2:1)}
3 =(2tan(0)sin(0)=tan(0)) .4:([tan(9)]2—1:0)
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